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(Write each phrase for Chinese meaning .)

1. violin 2. playing the violin
3. drum 4. playing the drum
6. piano 7. playing the piano
8. cello 9. playing the cello
10 .clarinet 11. playing the clarinet
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) What does the sign indicate?
A. a free software
B. a soft blanket
C. a cheap software
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) Which item may not be found in the store?
A. Refrigerator
B. TV
C. Piano
) If Xiao Lin spend$655 in the store, Which following statement is
correct?
A. Xiao Lin may get a free delivery.
B. Xiao Lin don’t need to pay sales tax.
C. Xiao Lin can only pay it by cash.
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) Which statement is NOT correct?
A. Xiao Ming may have his teeth cleaned.
B. Xiao Ming may get his braces installed.
C. Xiao Ming may have a regular check up for his teeth.

B
) What is it?
A. It is a book called “4%P~:i &=

B. It is an admission notice.
C. Itis an application form.
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